








I/2 l/2
PZ%  P(E,)  = x3 1o

so = 64

.I
P(E;flE;)  = 1

x3 ’ 7

“l/2
s l/2 = 64

kk = 1
x=  -3

- 7k = 1

k = $
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1.2  f (x )  =  k(lxl+  i)‘, x = -1, 0, 1

= o  &q

& k(lxI+l)*  =  1
x=-1

k(4+1+4)  =  1

x
1.3 f(x) = k ; ,

0
x = 1, 2, 3, . . .

= o  &P-J

k[;+(;)2+(;7+...]  =  1 (a=&4  G.P. 6s  a = r = ;I

k-i-  = ,
1-i

k = $

1.4 f(x) = g , x=1

x2 - 1=
21 ’

x = k, 2k,  k > 0

7
= 5’ x = 5

= 0 &.q
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P(X E E)  =
!

f(x)dx
E,

iYaed1s  x ~OPb~~iabb~~b~9~XI~~~~9~~P9P6lblPd'tb

5-2x
f ( x )  =  7’ -2<x<2

= 0 'is4  "I

89M1~1ll09 P(X2  2 I ) ,  P(0  <  x  < 3 )

94  0
X?ll P(XZ  a 1) = P(X < - 1, x > 1)

= P(X 6 - l)+ P(X > 1)

= 5 ( - 1 + 2 ) - ( 1 - 4 ) + 5 ( 2 - 1 ) - ( 4 - l )  = 1
20 20 5

I
2

P(0 < x 4 3) =
5-2Xdx-

0 20

= 5(2-0)-(4-o)  = 3
20 itI
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( l - x ) ’  2- -  =
9 k

(I-k)‘-(I-2)’ = 1

9

I-3k+3k2-k’+l  = 9

k3-3k2+3k+7  =  0

(k+I)(k’-4k+7) =  0

?ZIG k = -1

1.5 f(x) = ix2 , O<x<P

=  $X2-3(x-l)>J,  1 < x  < 2

=  k(x2-3(x-1)2+3(x-2)2j, 2  < x  <  3
‘4

= 0 VA ?I

f ( x )  L~up49~~uMulL~~~lla.s  x  &&.L

’ >

s s
%lx+ :$x2-3(x-l)';dx+  :k[x’-3(x-1)‘,3(x-2)‘jdx

02 s
= 1

8+1+1-O
I

= 1

2

+ilVOS
0
(4x-2x2)dx = 4+2.; = f > 1
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4 1 3= -xx--  ( 19
2

) cQx<-
2

4 5 3= - i --x 1
9 2 ’ z

<x<2

= $4-x) , 2<x<3

1= - ,
9 36x<k

Az 0 0% “1
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P(E)  = ;, bib E = [x : 0 4 x < 21  89Ml~l"uO9  c bb61:  k

P(E) = P(0  ,< X < 2)

1
!

c1
2 =

-(X+I)dx+jI/2  gx-;)dx+!:,,  g+-x)dx
09

; = ;(;+c)  + f![!(~-c2)-;(~-c))  + ;[:(2-;)-;(4-$)]

- cl-2c+1  = (c--1)2  = 0

%E%%-il"uO9 c = 1

aihmfl E’ = {x : 2 < x < k]

P(E’) = P(2 < X < k)

1 - P ( E )  =
!

1
2 = 5

‘(4(3-2)-;(9-?)]+;(k-3)

~r%h’~J~s  k = 6

5.2 P cos X Q $
(

c sin x dx = I
n/3

-ccosx  = -c
0

- C = 2
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LLWWh f(x) = 2 sin x, 0 < x < i



= PX,Z
i ,i

“n/3
=

!
2sin xdx

n/4

= - 2  c+3s~
( )

= -2(;-+)  =  0 . 4 1 4

.n/4

2sin x d x
b n/h=

1”‘”  2sin xdx
b 0

+;j
_ = 0.542

-2i;- I)

f(x) = ke+’ , -m<x<co

6.2 ’ <x<2-1
ii‘ h
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1

co

ke+dx  = 1

jIwke.,,  jje-‘dx  =  1

k(e’-e-“)-k(e-“-en)  =  0

ii
Z-I/h

lim
h - m I/h

f e-“dx
I

zz
e-l/h-e-2+l/h

= P(0  < x < 2)

= f(e”-e-‘)  = 12(1-e-2)

6.3 ;IOp(5  <  x < 5+h)  = 1 em’dx
2
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lim F(8 + h)
h-0

= !j 1-2,( 1 2<x<lO
x

= 1 , x>lO
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= 0.75

= 0.83

F ( 8 )  =’ ;(I-;)  =  0 . 9 4

?lq¶4$  2.4.1 61  a  b161Z  b  L%.kkl+N~kI  7 ?I09  X  bbflfb>a  &‘J

P(a  < X  Q b) =  Fx(b)-  Fx(a)

TlqM$ 2.4.2

P(X < a)  =  trno  Fx(a-  h)

h > O
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6.3
d(O)-()=do~
dx dx

= 2(x+3)
18 ’ -3Qx<O

= 3-x) ,o<x<3
dx 18

x

- 3 - 2 - 1 0 I 2 3

7. fhU@l F(x)  = a+ b tan-lx, -02  < x  <  01

7.1 TJWIIF~I?J&S  a LLR:  b '%I!'%? F(x) i%.&  c.d.f. ?.I09  X

7.2 P.3'191  p.d.f. “uD9 X

7.3 w+huamdlllo~

/i,moP(-1  < X < l+h)

h>O
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8 . 2  p.d.f.  liO9  X

8.1 P(X 6  ;j  = F(i) = E-= 0.447

P(; < X < fj = F(i)-F(i) = j-d; = 0.207

P(7X  > 3) = = =  0 .654

d& 1
8.2 -=-

dx 2v5 ’
O<x<l

&&A  p99~~u~ul~Ltipd'a.s  x

i

m

E(X)  = x f(x) dx . . . . . x
--m

!

co
x dF(x)

- m.
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f(o)+f(l)+f(Z)  =  f(O)+f(I)+p  = I . . . . . . . . (1)

E ( X )  =  O f ( O ) +  lf(l)+2f(2)  =  m

f(l)+2p  = m . . . . . . . . . (2)

87n (2)  9-1;

f(l) = m-2p  2 0 (Fpmii~  f ( x )  %I I)

m  2 2~ . . . . . . . . . . (3)

(1) - (2) ; f ( O ) - p  =  I - m

f(0) = 1 -m+p 2 0 (ymaaJuT  f ( x )  %I I )

I+p 2 m ..,....... (4)
*

. . . . . . . . . . (1.1)

. . . . . . . . . . (1.2)
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E ( X )  = Xd,=K __9 - 4
IO -2 = 10

2.3 f(x) = x, o<x<  I

=  2 - x , l<x<2
A= 0 a.4 “I

E ( X )  =

2.4 F(x) = 0, x<o

= I2 ogx<zx - - x ,
4

= 1, x22
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puferuvos  x = f (f(O)  = 0)

3.3 f(x) = &(2x2 - I), x = 1,2,3

d
= 0 G-4 7

~91%6161~1~0.s f(x) b$O x = 1, 2, 3 ac'b$1

x 1 2 3

+--

f(x)  l 7 17
23 25 zs

mwh pGhJvo~  x = 3

3.4 f(x) = .! x*e-' ,
02

o<x<m

= 0 'ipay

9bi%& P(X < 1) = J& < l
2
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L&x p(x < 1)  = sr,!!?! 1 8 9 I
\ =2 5 6 2 5 6 ->2 5 6 z

aLm%-k  aklpao.3 x  = 1

4.2 f(x) = 0.2 , x = 2, 4, 5

= 0.4 , x = 7
d= 0 @Ill& “I

WGUdl  P(X  < 5) = 0.2+0.2 = 0.4 < ;

LL63Z P(X < 5) = 0.410.2 = 0.6 > f

Mvwil ikJpms x  =  5

4.4 f(x) = I
n(l+xZ) ’

-m<x<o3

1.5 x, L~u~nu~luvo~ x 6hh

1

x,,,
--oc  -&dx =  ;1tan-‘x,-tan-‘(-m)J  =  f

sr$i ;tan-‘x”,-l-  -; =
i 1

1
A 2

tai’x,  = 0 = tan-’  0

LLml.rh a%‘ber~luvo.s  x  =  0
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sl
1.  x r~~~~al~srQs~UdB~~nc~~nal81P9tblLL~W  f(x) fiwmYb%tKi

f(x) = f ) o<x<5

1
= 0 a4  “1

199Rl  p.d.f.  LLWZ  c.d.f. lItI.  Y = 2X-5

F(Y)  = VY  C Y)

= P(2X-5  < y), -5  <y< 5

Bt%i  c.d.f. llO9 Y = 2X-5

F(y) = 0 . y< - 5

_. y+5
10  ’ -54y<5
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= 1 Y25

dF0  = 0
dy Y< -5 esio y>5

-5<y<5
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3 .  RIMW f(x) = x+ ; ) O<x<l

0 &A q

a~tbpggn"~~~7alaJHpalaap~~~s  x ~9Hl

3.1 c.d.f. "uo9 x

3.2 c.d.f. 4.b8t  p.d.f. llO9 Y = X'

3.3 P(4Y > I)

“X
I

It 1

1
3 . 1 x+-  dx =

2
;+;  , O<x<l

0

&&.4  c.d.f.  lJa9  x %a
F(x) = 0 , x < 0

= 5(x+1)  1 O<x<l

=I’ ,x21

3.2 P(Y Q y) = P(X?  < y) ( 0 < y < 1

z PC-V;  < x < \r;,

= F,(d;)  - F,(  - Vg

/++ I) -0

9-16 c.d.f. “~09  Y

F(y) = 0 7 Y<O

= I , y21

%(Y)  _
dy

,  y < o  VI% y>l
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4
5 (O<X<l

= 1 , x21

2 . 3  Fi1mMJlulla~ X = P(A) = ;

eiln1~MaJlfJll~~  5x2 = 5E(XZ) = 5E(X)  = 1

99t-31

3.1 P(X  = 3)

3 .2  E(X)
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3.2 E(X,)  = P(A;)  = f

E ( X )  =  E(X,+XZ+...+X,)
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P(X, = 1) = 2 = ;

LLR"
1 2 13

P(X, = 0) = 1-z = zs

13

=25 ’
3<y<5

= 1 , Y>5
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3-x

mn P(X  = x) = c (- 1)” S \+l.
h:O

x 0 1 2 3
I

“rn
E ( X )  = P C a,g(aJ+(l  -p) I xh(x)dx

, “-cc
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P(0  < X < ‘1) = F(l)-F(0)

P(X = 1) = F(l)-F(l-)

P(lGXG2) = P(X=l)+P(l<XQ2)

= t +F(2)-F(1)

!+Z-L  = 5
=432 12

PGil~-mv&l~o9  P(X <  0).  P(X <  -l),  P(X < -l),  P(X <  I )

blWt P-l<X<it 1
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